[bookmark: _GoBack]Book Stack Problem
Imagine there is a stack of 8 identical books that is 27.2 cm tall.  
Answer the following 4 questions.

1. Draw an end view sketch of the stack.  Label the stack height.  How can you determine the height of 1 book?  Show the work you do to get the answer then label your sketch with the height of one book.













2. Write the rule you could use to determine the height of any stack using one of these books.



3. In this problem the _____________ of the books in the stack is proportional to the ____________ of the books.


4. What is the constant in this relationship?  Explain how you know.

When you found the height of one book you found the unit rate.  A unit rate is a ratio where one quantity is 1 unit.  In this case you found the height for 1 book (1 unit).

We started with a ratio comparing the height of the stack to the number of books in the stack.  For the stack of books write an equivalent ratio using a unit rate for the height per book.

The ratio 27.2 cm : 8 books is equivalent to the unit rate ratio ____________ : 1 book.

The two quantities, number of centimeters and number of books, are proportional.  Once you know the number of centimeters for one book it is always multiplied by the constant height in centimeters of that book.  Mathematicians call the height in this problem the constant of proportionality.

Look at the following proportional relationships.  Use what you know about ratios and proportional relationships to solve these problems.  Create a sketch to represent the situation and show all the work you do to get your answer.

15 blocks weigh 80 grams
How many grams will 4 blocks weigh?





Complete the following sentence:
In this problem the _________ of the blocks is proportional to the _________ of the blocks.

_____________is the constant of proportionality in this relationship.

6 bottles of water cost $3.49
How much will five bottles cost?





Complete the following sentence:
In this problem the __________ of bottles of water is proportional to the __________ of the bottles of water.

____________ is the constant of proportionality in this relationship.

A ream (package) of printer paper contains 500 sheets and measures 5.2 cm tall.
How tall will a stack of 128 pieces be?





In this problem, what are the two quantities that are proportional?  


How does the constant of proportionality in these relationships help you solve the problems?

